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g8 299,940 262,160 37,780
A8EH AHE ZHI 223,760 178,960 44,800
FOUTXHPAES 223,760 178,960 44,800
HHAY RS 162,260 117,460 44,800
201 L2l 8,000 8,000 0
01 At 22l 8,000 8,000 0
O e+t 8,000
— Jt=zste Fdl 8,000,000& 8,000
203 R =&t 1,000 1,000 0
03 AIBFXH S =ZH| 1,000 1,000 0
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1,000, 000& 1,000
301 LEXZ 153,260 108,460 44,800
05 SE -0 -EtEEES248E 153,260 108,460 44,800
O olE=¢(32Y) 300,000 » 32Y% 123 115,200
O oEadNH= 300,000& = 32H « 23| 19,200
O OlE3lo ALY
20,0003 * 32% * 23| = 128 15,360
O Bt &S| (70%) 50,000& = 70 * 13l 3,500
A2A2F0=RAAY 60,000 60,000 0
401 Al HIZ 2018 60,000 60,000 0
01 A& HI 59,460 59,460 0
O 272 FQUEH ALY
60,000,000 = 99.1/100 59,460
03 A& =2 THHI 540 540 0
O 272 =UEH ALY
60,000,000& = 0.9/100 540
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206 M= Hl 1,500 1,500 0
01 =8l 1,500 1,500 0
O gddas 2L (EF00&) 1,500,000 1,500
HY2AZH (8&H) 76,180 83,200 AT7,020
JlE3l 76,180 83,200 AT7,020
JlE2&l 76,180 83,200 AT,020
201 L2l 35,400 42,420 AT,020
01 At 22l 15,040 22,060 AT7,020
O e+l 8,800
— BN2E SUAY 8,800,000& 8,800
O = & dl 6,240
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- S8 242 |4l 3,000,000 3,000
O Xt&k. el 3,500
— HIXNY 7F{U L =28 3,500,000& 3,500
202 4 HI 31,400 31,400
01 = LHA YI 5,000 5,000
O BNA2Y SHA L 4,000,000& 4,000
OJIg & EXNRI &= 1,000, 000& 1,000
02 A Y| 26,400 26,400
O SHAA XN
200,000& = 11FE = 12& 26,400
203 PR =&Yl 9,380 9,380
01 J22F PR =8| 5,940 5,940
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6,600,000& * 90/100 5,940
02 ROIA R FA Y| 440 440
O F0I2Y, Msis & FJAIIEZ
40,0004 * 114 440
04 EAN2I LRI 3,000 3,000
O PA2IIERFAH(FE 1Y) 3,000
— 1521 Ol &t 250,000& = 12& 3,000




